MATHS

BOOKS - CENGAGE MATHS (HINGLISH)

EQUATION OF PLANE AND ITS APPLICATIONS -
|

1. Let A(O, 6, 6), B(6,6,0) and C(6,0,6) are three points and

point D is moving on thelinez +2 -3 =0=9.IfG is

centroid of AABC, then minimum value of GD is
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Answer: C

° View Text Solution

2. Equation of line of projection of the line

3 —y+22—-1=0=x+2y—2=2 on the plane

3r +2y+2=20iIs

+1 —1 -1
A..’It :y VA

11 -9 15

B.3r —8y+724+4=0=3x+2y+ 2



https://dl.doubtnut.com/l/_tswDvIuI79dt
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Ca:+12 y+ 8 z+ 14

11 -9 15
D:U—|—12_y—|—8_z—|—14
11 -9  —15

Answer: B

o View Text Solution

3. The orthocenter of triangle whose vertices are

A(a, 0,0), B(0,b,0) and C(0, 0, ¢) is (E, E, E) then

a b c

k is equal to


https://dl.doubtnut.com/l/_QvWI75hMh9DA
https://dl.doubtnut.com/l/_GxexANLNIR45

Answer: A

o View Text Solution

4, The shortest distance between the lines
2r+y+2—1=0=3x+y+2z2—2andz =y = 2,

is

A. — units
B. v/2 units
C. — units

D. — units
2


https://dl.doubtnut.com/l/_GxexANLNIR45
https://dl.doubtnut.com/l/_bvEjWkYA5n2w

Answer: A

o View Text Solution

5. If plane 2z + 3y + 62+ k =0 is tangent to the
sphere 22+ 9>+ 2>+ 2z —2y+22—6 =0, then a
value of k is

A. 26

B.16

C.—26

D. none of these

Answer: A

| & o |
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[ W View Text Solution ]

6. The shortest distance from (1,1,1) to the line of
intersection of the pair of planes

a:y—i—yz+zm+y2:0is
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Answer: A

o View Text Solution
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7. A variable plane makes intercepts on z, y and z axes
and it makes a tetrahedron of volume 64 cu. Units. The

locus of foot of perpendicular from origin on the plane is
A (2% +y° + z2)2 = 384zyz
B.zyz = 681
2
1 1 1
C.(a:+y+z)(— + -+ —> = 16
xr Yy z

D.zyz(z +y + 2) = 81

Answer: A

o View Text Solution

8. If the projection of the line % = = on a

oz y—1 z—1 ,
plane P is T="1 = —1 Then the distance of



https://dl.doubtnut.com/l/_ns39XraGt4fD
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plane P from origin is

Answer: B

o View Text Solution

9. Image of sphere z®’+y*+2°=9 in plane

2¢ +3y+42—29=0is

Ax?+y?+22 -8z — 12y — 162+ 107 = 0


https://dl.doubtnut.com/l/_wAuHkXVHvLnx
https://dl.doubtnut.com/l/_KDijfOKdO8DZ

B.z? + 4y’ + 22+ 8 — 12y — 162+ 107 =0
Caxl4 9?4+ 2> — 8+ 12y — 162+ 107 = 0

D.z> +y® + 22 — 8z — 12y + 162+ 107 =0

Answer: A

o View Text Solution

10. The locus of a point which moves in such a way that
its diameter from the planexz +~y + 2 = 0iis
Azl+y’+22— —52—3y—32=0
Bz +y’+22 -5z +3y+32=0

Cz+y’ + 22 +5zy+3yz+ 2z =0


https://dl.doubtnut.com/l/_KDijfOKdO8DZ
https://dl.doubtnut.com/l/_N6b8HOJd9pwK

D.z% 4+ y® + 2% + bay + 3yz + 3zz = 0

Answer: C

o View Text Solution

1. A plane cutting the axes in PQ,R passes through

(a, B, B — A\, A — ). If O is origin, then locus of center

of sphere OPQR is

Aar+By+Az=4
B.(a— B+ (B—-—Ny+(y—a)z=0

C.la—PByz+ (B —y)zz + (A — a)zy = 2xyz

! ! ! 2+y*+27)
D.<a2+62+)\2>(m )-a:yz



https://dl.doubtnut.com/l/_N6b8HOJd9pwK
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Answer: C

° View Text Solution

12. Aline is drawn from the point P(1,1,1)and perpendicular
to a line with direction ratios, (1,1,1) to intersect the plane

x + 2y 4+ 3z = 4 at Q. The locus of point Q is

Ax_y—S_z——|—2
1T -2 1

g & _Yy—=5  z+2
-2 1 1

Cr=y==z

D. none of these

Answer: A

| & o |
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[ W View Text Solution ]

13. Let a plane pass through origin and be parallel to the

—1 1
line a:z = Z_y31 = Z_+2 is such that distance

5
between the plane and the line is 3 Then equation of
the plane is/are
Az —2y+2z=0
B.x —2y—22=0
C2x +2y+2=0

Dz +y+2z=0

Answer: A::C

° View Text Solution



https://dl.doubtnut.com/l/_wPyrtBeR2ZPN
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14. The planes ax +4y+2=0,2y+32—1=0 and

3z —bz+ 2 = 0will

A. meet at a point if ab # 15.

B. meet on a line if ab =15, a=3

C. have no common point if ab=15,a # 3.

D. have no common point if ab=15,a # 5

Answer: A::B::C

o View Text Solution

15. If the line %: % zg intersects the the line

1
362 +3(1—2a)y+2z=3— 5{604% +3(1 — 2B)y + 22}


https://dl.doubtnut.com/l/_O2bqIiKmCm3W
https://dl.doubtnut.com/l/_Aaoj0NoaASYV

then point (a, 8, 1) lies on the plane

A2c—y+z2=4

Bx+y—2=0

Cx—2y=20
D.2z —y =20
Answer: A::B::C

° View Text Solution

16. Let A= (1,1, —1),B=(0,2,1) be two given
points. Also, let P:x 4+ y 4+ 2z = 0 be a plane.
If A" and B’ are the feet of perpendicular from A and B,

respectively, on the plane 'P' then A’ B’ equals


https://dl.doubtnut.com/l/_Aaoj0NoaASYV
https://dl.doubtnut.com/l/_L85u3d7p9b0z

3
8 5
"V 3
C./3
5 2
"V 3
Answer: A

o View Text Solution

—
17. The equation of the line perpendicular to AB and

lying completely in the plane 'P'is

Aw_g_y_%_z—i—2
1 =3 2

Bx—3_y—1_z+2
2 -6 2



https://dl.doubtnut.com/l/_L85u3d7p9b0z
https://dl.doubtnut.com/l/_QtHd47y5c4no

Answer: A

o View Text Solution

18. Let Pi:z+y+22—3=0and z —2y+ 2z =4 be
two planes. Also, let A(1,3,4) and B(3,2,7) be two
points in space.

The equation of plane which passes through line of
intersection of P, and P, = —2y+ z =4 be two
planes. Also, let A(1, 3,4) and B(3,2,7) be two points
in space.

The equation of plane which passes through line of


https://dl.doubtnut.com/l/_QtHd47y5c4no
https://dl.doubtnut.com/l/_op0eDNFqdyW9

intersection of Piand P, and upon which length of

projection of the line segment AB is the greatest, is

A2c+3y+2+4=0

B.3z — 3y + 4z — 11 =0

Cz+3y+z2z+2=0

D.3y+2+1=0

Answer: D

o View Text Solution

19. The equation of plane which passes through line of
intersection of P; and P, upon which length of

projection of the line segment AB is the least, is


https://dl.doubtnut.com/l/_op0eDNFqdyW9
https://dl.doubtnut.com/l/_WcY4OLGE7JFi

Az+3y+z2+2=0

B.3y+2+1=0

C2x —y+32—7=0

D.3x —3y+42z—11 =0

Answer: C

° View Text Solution
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